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Juan and Romella are standing at the seashore 10 miles apart.  The coastline is a straight line between them. Both can see the same ship in the water.  The angle between the coastline and the line between the ship and Juan is 35 degrees.  The angle between the coastline and the line between the ship and Romella is 45 degrees.  How far is the ship from Juan?
7.2 miles





Find the area of a triangle where B = 90°, c = 67m, and a = 37m.



1239.5 m2





Jack is on one side of a 200-foot-wide canyon and Jill is on the other.  Jack and Jill can both see the trail guide at an angle of depression of 60 degrees.  How far are they from the trail guide?

200 ft




Your backyard is a great spot to build a skating rink this winter. The ground must be covered with sand that costs $16 per square meter. If the sides of the triangular plot of land measure 8.24m., 7.67m. and 8.13m., what will be the cost of the sand needed to cover this area?
$443.65




Tom, Dick, and Harry are camping in their tents.  
If the distance between Tom and Dick is 153 feet, the distance between Tom and Harry is 201 feet, and the distance between Dick and Harry is 175 feet, what is the angle between Dick, Harry, and Tom?
47°



Three boats are at sea:  Jenny one (J1), Jenny two (J2), and Jenny three (J3).  The crew of J1 can see both J2 and J3.  The angle between the line of sight to J2 and the line of sight to J3 is 45 degrees.  If the distance between J1 and J2 is 2 miles and the distance between J1 and J3 is 4 miles, what is the distance between J2 and J3?
2.9 miles



Airplane A is flying directly toward the airport which is 20 miles away.  The pilot notices airplane B 45 degrees to her right.  Airplane B is also flying directly toward the airport.  The pilot of airplane B calculates that airplane A is 50 degrees to his left.  Based on that information, how far is airplane B from the airport?
18.5 miles



Josh, Mary and Evan are playing Frisbee in the school field.  Their current positions form a triangle with the angle at Josh equal to 44o and the angle at Mary equal to 21o. If Mary is 15 meters from Evan, what is the area of the triangular plot formed by Josh, Mary and Evan?

52.6 m2





Find the area of a triangle that has sides of length 4ft and 2ft and an included angle of 25°.
